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General Instructions:

(i) All questions are compulsory 4
(ii) The question paper consists of 34 questons dmdod into four sechons A B. C and D Section-A compnses of 8

questions of 1 mark each, Section-8 compnses®! 6 questions of 2 marks each. Secton-C compnses of 10 questions of 3

marks each and Section-D compnses of 10 quesions of 4 marks each
(i) Question numbers 1 to 8 in Sechon-A are multiple d‘no-cl QuestionNs where you are requred to select one correct option

out of the given four.
(iv) There is no overall choice
(v) Use of calculator 1s not permitted
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Question numbers 1 to 8 carry one mark sach Fmouhm four alternative choices have been provided of
which only one is correct Vouhanbuuﬂ.ncmtm
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(A) only one (B) two
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The linear equation y=mx +¢ has:

{A) Infinitely many solution (B)  Unique solution
() No solution (D)  Two solution

3 %ﬂmmﬂml 39, o BT I A
(A) (€ 600 (D) 45
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50° J" (© o0° (D) 45
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(A) 75 36° © nr O 47
With the help of a ruler & 1t 15 possable to construct an angle of :
A 77 (8) O ur D) &7
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(A) 530m m

O Wm () 828
The area of the canvas required lo make yltn\tdlwt&hllimu\d
slant hesght 25 m 15
(A)  0m (B 1100 @'’ ‘7
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{A)  2(2h7+3bh) (B) 227 +3bh)
(© 22K +3) (D) 2(2b2+3bh)
The tota! susface area of a cuboidal room whose length 15 twice the breadth is :
(A} 202h7+ 3bh) (B) 22+ 3bh)
(@ 220 +3b) (D) 217+ 3th)
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Median of the given datais:

144, 145, 147, 148, 149, 151, 152, 154, 155, 160

(A) 149 () 150 ) 151 5 P
© 1% 8
= fam MWW‘@"H \\k(z)"‘ o

144, 145, 147, 148, 149, 151, 152, 154, 155, 160

(a) 149 ® 150 © 151 / )

D 152

The range of the data is:
25,13,20,22.15@;1130 32.10 19,8,11, 20is :

(A) 10

© 18
HiHe 25,18, 20, zz,mpso 32,10,19,8,11, 20 9feme &
(Aa) 10 %

© 18 (D)
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The pillars of a temple are cyhndncally shaped. If each pilar has a
circular base of radius 20 cm and height 10 m. how much concrete

mixture would be required to build 14 such pallars ?

12
The class marks of a distnibution are 37, 42, 47, 52, 57, Determme the
class size and the class limits of the last class mark.
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Question numbers 15 to three marks each.
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Draw the graph of the linear equation whese solution i
mpmsmtedbyﬂ\epoinlstuvmgtimsumd&rmaﬂmms
as 7 units.
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Draw the graph of the hnear equation 3z« 4y

= 18 With the help of
thus graph. find the value of v.When 1 =12

£* s==a-9 " PQRAS
17 =T ABCD #1 {7151 AB, BC, CD #7 DA 4
£ ﬂf!BD:lZmﬂ.ﬁQR*'spwﬁ ‘

21158 % _CBD
18 huim,qammtohu-m'ﬁax 115

#n /CAD 7@ wifan /
| — -7
// W \':" (
' 3

1 = ° tnd
lnﬁg,ADudnmﬁerdmh.dAE:Dﬁ ¥ .ABC=115

Generated by CamScanner



19 — - £ . P
AABC= Ta® op ¥ ™4 T pt? m—;?m.gm]:i“AK"

4

"

2 wwmerTwRshEasE B P ER e
¢ @ i aw @ AR R AW
B v i ol g ol
The cost of polsshang % total surface of a closed cylndncal o tank at
25 passe per dov’ s T 7 [s heaght 15 3 tumes that of the radus of ity
hase Determune the radms of the base and hewght
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The tada of two ngbt ez
herghts are = S ratso > & Cakoalate the rato of thew curved surtace
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3 rwckster has & mean wore of 38 nans m nne wwungs. Find oul how

= e tenth muungs o raise hus mean score

mary rurs are 1o be soore

to ol : .
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24 en beiow = fhe irequency dstnbubon of salary m rupees of 50

J¥ ¢ O and represent it on .

B 1ot f axd iy On the Cartesian
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Draw the graph of the hnear equation represented by a straight

line whach 1s paralle] to the x-axis and at a distance 4 units above 1t
Find the equabon of the graph. Is the line parallel to the y-axis ?
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AE=aD%
AP a gacallelogram. The circle through A, B and C mtersects
CD { if necessary) at E. Prove that AE=AD.

28 fag e =9 v = % e am b
Prove that each (squ-nsanynu\.@e.

» £ AD m4 BC & wa- g ¥ E
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Construct an 150sceles tmmgle mn whuch sides are x, y and x -2 and
perimeter 15 equal to 13em.
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A villager had a plot i the shape of a quadniateral. The Gram

Panchayat decded to portion of his plot from one of the corners to

construct a Health Centre. luctantly agrees but with a condishon that he
will be given equal amowl of land o bew of his plot 50 as to form a

(if)  SHE T W
(i) A AT AT

trian guhu' plot.

Answer the following queshons
{1) Explamn how could thas be .@m—nml with hgure
(44) What value of the villager ¢ ' ,}'" »

(ti) Do you thunk comstructig & } Centre @ the village s justifed.

If so0, why ? O

32w v g o & sw w1 i  JT e i frh S 08 cm
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mcirnmlfmofﬁ_\ebmofanghl. mu“ﬁm
and its slant height s 28 cm. Find the volume of the cone.
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its susface area. Also find its volume.
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The following data shows the daly expenses ot a group of fanuhes
living n a housing society.
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No. of Fanulies
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Draw a trequensy lygon to represent the data above.
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